i% &1k [ |

AIl'TAC

PCVZE3|

&if

B, RIMESENSTIEEINXE

mERt
2500
2000 PCVIS
1500
PCVI0
= —
£ 1000
S _— PCvos)
500 — —
] o — 4+ PCV06
. 0 1 2 3 4 5 6
S [E(bar)
R Ry
SEE

5

! %
Bs PCV06 | PCV08 | PCV10 | PCV15 | PCVO6F | PCVOSF | PCV10F | PCV15F
T/ENR FE(Z40 u mRETRRDDIR)
{BFREIEE 0.15~1.0MPa
IR 1.56MPa
FRRETE —-20~70(°C)
BRIEINE 60(X/7) 40(R/7) 60(R/7) 40(R/7)
BEOR | PT1/8 | PT1/4 | PT3/8 | PT1/2 | PT1/8 | PT1/4 | PT3/8 | PT1/2
SES0ME  |M5X0.8| 1/8" 1/4" 1/4" 6 6 ®8 »8
B2 HEFA| 532 | 94.8 | 142.8 | 189.6 53 90 142.2 | 188.1
9 [cZR 546 | 94.8 145 189 542 | 90.6 | 143.4 | 187.6
(R EZEBFWECH. PTH. NPTHUE,
=it
R HE 1. ENRENLZ O,
FSIK BE% 2. SR8 ERL;
EE Bas 3. FHOBEITIA;
FHOC NBR 4. FRESBEET, IBEMDRALETE, ReENE,
| SRR
W SUS304
ZNVN @i o s
W05 NBR A am 3T 1 55
OZYIA NBR
o | Boe PCV 06 [ O
=L B5E+NBR
WE SUS304
JEREE Bas |
DOHERE OQOEEOZE OXSOEARE @FRRTEG
ESORN  GSOIERY WiEs0RE
06. 1/8' M5X0.8 1/8" -
PCV. S |08. 174" |TH: REL|1/8" 174" %%ﬁ?g
LFE| 10: 3/8" 174" 3/8", 12" |1 NpTH
16: 1/2" ; ; :
Fo BBESLT o0 e 12
: s o8 3/8", 1/2"

BRNFEFET (bar)

A

1

RINGSENDSTIEENR AL

0 1

2 3 4

TAEETD (bar)

:

5

7ot [\ ]

©

83 A

169

]
(s




i% &1k [ |

AIl'TAC

PCV &3l
ShER I #E
PT/NPT3F —EA
7 __oD
iy
Lid
=+
HA |
© \ RB
O
|
\
[an] | |
w LIJ<(
U( L~ RA
RiEESLT
BEHE| C [cA EA | EB [HA|HB| RA RB RC
PCV0O6 485|765 — | 16 [16.5| 14 | 12 | PT1/8 | PT1/8 | M5X0.8
PCV0O8 | 59 | 10 | - [20.3] 21 |17 [ 14 | PT1/4a | PT1/4| PT1/8
PCV10 |745| 11| - | 256 | 26 |22 |17 | PT3/8 | PT3/8 | PT1/4
PCV15 79514 | — | 28 [29.5] 24 | 19 | PT1/2 | PT1/2 | PT1/4
PCVO6F 58575 6 | 16 |16.5| 14 | — | PT1/8 | PT1/8 -
PCVOSF | 67 | 10 | 6 |20.3| 21 |17 | — | PT1/4  PT1/4 -
PCVIOF | 82 | 11| 8 | 25 | 26 | 22| - | PT3/8 | PT3/8 -
PCV1GF | 87 |14 | 8 | 28 [29.5|24 | - |[PT1/2 | PT1/2 -

om [an]
8 B ul L) 1A
O (@]
RA RA
PRI, RIEES

BEES | Cc [CA EA | EB [HA|HB| RA | RB | RC
PCVOGG | 48.5 5.5 — | 16 | 19 | 14 | 12 | G1/8 | G1/8 | M5X0.8
PCV08G 59 6.5 - |20.3| 24 17 | 14 | G1/4 | G1/4 G1/8
PCV10G 745|175 - 25 1 30.5| 22|17  G3/8 | G3/8 G1/4
PCVI6G | 79.5| 9 | — | 28 |34.56| 24 | 19 | G1/2 | Gl/2| Gl/4
PCVO6FG |58.5|5.5| 6 16 19 14| - | G1/8 | G1/8 —
PCVOSFG 67 |6.5| 6 |20.3| 24 17 | - | G1/4 | G1/4 -
PCVIOFG | 82 | 7.5, 8 | 25 |30.56 22 | - | G3/8 G3/8 | -
PCVISFG | 87 | 9 | 8 | 28 |34.5 24 | - Gi/2 Glj2| -

170




	页 5
	页 6

